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AP Chem
Version A (24 pts)
AB=hv c=hv Ea=2078x10" joule  q=meaT

©=30x10'ms’  h=663x10%1s

Complete on a separae sheet of paper. Show your wark for all problems invalving calculations
and be sure to box your final answer and include sensible units.
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the fial temperature of the Pb and water mixture is 10.0°C, wha s the specific beat of Pb
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pts) When 22,000 g sample of pure phenol, C:H;OH(s), s compietely burned accordig to

the (balanced) cquation above, 64.98 kilojoules of heat is released. Use the information n the
table below to answer the questions that ollow.
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3. (9/pts) A cerain line inthe specirum ofstomic hydrogen  essocisted with the
cansiton of the H stom from the sxth energy level (n = ) to the third energy Jeyel(n = 3).
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Quiz: Thermochemistry & Quantum Mechanics (Chapters 5 & 6)
AP Chem
Version B (24 pts)

AB=hv e=iv E,= 27810 joule  q=meaT

.63 x10% s

©=30x10'ms’ h

Complete on a separate sheet of paper. Show your work for all problems iavolving calculations
‘and be sure to box your final answer and include sensible units.
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2. C.HCOOH () + 5 O () = 4CO (g) + 4H0 (D

“The cathalpy change for the (belanced) combustion of butyti acidy AH"suuarm 8 24183.5

Kilojoules per mole.
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AP Chem
Version C (24 pts)
AB=hv emhv o= 2078X10" joule  q= meAT

30x10°ms’  h=663x10MJs

Complete on a separate sheet of paper. Show your wark for all problems invelving calcalations
and be sure to box your final amswer and include sensible units.

1. (4 pts) A 24.0 g sample of i (cny= 0.444 J/g°C) at 400.0°C i acded to 500.0 g of 5.0°C water
(6™ 418 J°C). Wist s s o tcmprtieof e N o v mitize?
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(8 pts) The enthalpy change for the (balanced) cormbustion of ethanoic acid, AHS wm i -
1.983.5 kilojoules per moie.
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3. (6 pts) A certin line in the spectrum o

ransiton of the H stom from the # energy evel (n=7) to 1 evel (0= 1),
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4. (6 prs) Stae whether e following quantum number sets are permissibl (slowed) or

farbidden (not allowed) and describe how you made your choice.
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